

Office of the Secretary 501 Woodlane Drive, Suite 401N, Little Rock, AR 72201 Phone: (501) 683-1787 | Fax: (501) 682-4833



December 7, 2020

Chairwoman Smith and Members of the CARES Act Steering Committee,

Attached you will find the Arkansas Department of Veterans Affairs (ADVA) request for reimbursement for non-preapproved expenditures. This request contains two separate attachments as described below:

- 1. Attachment A (\$48,251.22) is the reimbursement request for the Arkansas State Veterans Home at Fayetteville (ASVH-F) for its increased labor expenses attributable to COVID-19 from September through December.
- 2. Attachment B (\$85,724.62) is the reimbursement request for goods and commodities purchased in FY2020 not on the COVID-19 preapproved items list.

The total amount of this request is \$134,075.84. As you will see, Attachment A is in the same format and utilize the same justification rationale as the Agency's last two submissions. For privacy reasons, the Agency has redacted the names of personnel that tested positive for COVID-19 and all personnel numbers.

In summary, our team at ADVA has worked extraordinarily hard to continue serving Arkansas' veterans and their loved ones, despite the risk and demands of COVID-19. However, like much of the State, it continues to take a substantial financial toll. I appreciate your consideration of these reimbursement requests. You can contact me by phone at 501-683-1643 or by email at austin.booth@arkansas.gov.

Respectfully,

Austin Booth

Chief of Staff / CFO

Arkansas Department of Veterans Affairs

Arkansas State Veterans Home-Fayetteville COVID-19 Related Contract Labor Costs													
Fund	Cost Center	Personnel Number Name (Employee on COVID leave)	Title	Date	Explanation/Reason for working	Base Rate	Total Differential	Total Rate	Hours	Base Amount	Retirement Match	FICA	Total Reimbursement Request
0000AV	311521	Pat Cunningham	RN	10/01/20	COVID testing all staff	\$ 33.13	\$ -	\$ 33.33	\$ 5.00	\$ 165.63	\$ 25.38	\$ 12.67	\$ 203.68
0000AVV	311521	Wendy Watson	LPN	10/02/20	COVID test Doctor orders and lab orders for all Residents	\$ 21.09	\$ 2.11	\$ 23.20	\$ 5.00	\$ 116.00	\$ 17.77	\$ 8.87	\$ 142.64
0000AV	311521	Pat Cunningham	RN	10/04/20	COVID testing all staff	\$ 33.13	\$ -	\$ 33.33	\$ 5.00	\$ 165.63	\$ 25.38	\$ 12.67	\$ 203.68
0000AV	311521	Pat Cunningham	RN	10/05/20	COVID testing all staff	\$ 33.13	\$ -	\$ 33.33	\$ 5.00	\$ 165.63	\$ 25.38	\$ 12.67	\$ 203.68
0000AVV	311521	Pat Cunningham	RN	10/06/20	COVID testing all staff	\$ 33.13	\$ -	\$ 33.33	\$ 5.00	\$ 165.63	\$ 25.38	\$ 12.67	\$ 203.68
0000AV	311521	Pat Cunningham	RN	10/07/20	COVID testing all staff	\$ 33.13	\$ -	\$ 33.33	\$ 5.00	\$ 165.63	\$ 25.38	\$ 12.67	\$ 203.68
0000AV	311521	Pat Cunningham	RN	10/08/20	COVID testing all staff	\$ 33.13	\$ -	\$ 33.33	\$ 5.00	\$ 165.63	\$ 25.38	\$ 12.67	\$ 203.68
0000AV	311521	Wendy Watson	LPN	10/09/20	COVID test Doctor orders and lab orders for all Residents	\$ 21.09	\$ 2.11	\$ 23.20	\$ 5.00	\$ 116.00	\$ 17.77	\$ 8.87	\$ 142.64
0000AV	311521	Pat Cunningham	RN	10/14/20	COVID testing all staff	\$ 33.13	\$ -	\$ 33.33	\$ 5.00	\$ 165.63	\$ 25.38	\$ 12.67	\$ 203.68
0000AV	311521	Wendy Watson	LPN	10/14/20	COVID test Doctor orders and lab orders for all Residents	\$ 21.09	\$ 2.11	\$ 23.20	\$ 5.00	\$ 116.00	\$ 17.77	\$ 8.87	\$ 142.64
0000AV	311521	Pat Cunningham	RN	10/15/20	COVID testing all staff	\$ 33.13	\$ -	\$ 33.33	\$ 5.00	\$ 165.63	\$ 25.38	\$ 12.67	\$ 203.68
0000AV	311521	Pat Cunningham	RN	10/16/20	COVID testing all staff	\$ 33.13	\$ -	\$ 33.33	\$ 5.00	\$ 165.63	\$ 25.38	\$ 12.67	\$ 203.68
0000AVV	311521	Pat Cunningham	RN	10/21/20	COVID testing all staff	\$ 33.13	\$ -	\$ 33.33	\$ 5.00	\$ 165.63	\$ 25.38	\$ 12.67	\$ 203.68
0000AV	311521	Wendy Watson	LPN	10/23/20	COVID test Doctor orders and lab orders for all Residents	\$ 21.09	\$ 2.11	\$ 23.20	\$ 5.00	\$ 116.00	\$ 17.77	\$ 8.87	\$ 142.64
0000AV	311521	Pat Cunningham	RN	10/28/20	COVID testing all staff	\$ 33.13	\$ -	\$ 33.33	\$ 5.00	\$ 165.63	\$ 25.38	\$ 12.67	
0000AVV	311521	Pat Cunningham	RN	10/30/20	COVID testing all staff	\$ 33.13	s -	\$ 33.33	\$ 5.00	\$ 165.63	\$ 25.38	\$ 12.67	\$ 203.68
0000AVV	311521	Patricia Cunningham	RN	11/02/20	COVID testing of staff	\$ 33.13	Š -	\$ 33.13	\$ 2.50	\$ 82.83	\$ 12.69	\$ 6.34	\$ 101.85
0000AV	311521	Patricia Cunningham	RN	11/03/20	COVID testing of staff	\$ 33.13	\$ -	\$ 33.13	\$ 3.50	\$ 115.96	\$ 17.76	\$ 8.87	\$ 142.59
0000AVV	311521	Patricia Cunningham	RN	11/04/20	COVID testing of staff	\$ 33.13	s -	\$ 33.13	\$ 8.00	\$ 265.04	\$ 40.60	\$ 20.28	\$ 325.92
0000AVV	311521		CNA	11/04/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$ 12.82	\$ 2.81	\$ 15.63	\$ 7.50		\$ 17.96	\$ 8.97	
0000AV	311521	Patricia Cunningham	RN	11/05/20	COVID testing of staff	\$ 33.13	Š -	\$ 33.13	\$ 1.75	\$ 57.98	\$ 8.88	\$ 4.44	\$ 71,29
0000AVV	311521		CNA	11/05/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$ 13.09	\$ 2.87	\$ 15.96	\$ 8.50	\$ 135.66	\$ 20.78	\$ 10.38	\$ 166.82
0000AV	311521	Patricia Cunningham	RN	11/06/20	COVID testing of staff	\$ 33.13	\$ -	\$ 33.13	\$ 1.25		\$ 6.34	\$ 3.17	
0000AV	311521	Wendy Watson	LPN	11/06/20	COVID test Doctor orders and lab orders for all Residents	\$ 21.09	\$ 2.11	\$ 23.20	\$ 5.00	\$ 116.00	\$ 17.77	\$ 8.87	\$ 142.65
0000AV	311521		CNA	11/09/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$ 13.12	\$ 1.31	\$ 14.43	\$ 10.75	\$ 155.12	\$ 23.76	\$ 11.87	\$ 190.75
0000AV	311521	Patricia Cunningham	RN	11/10/20	COVID testing of staff	\$ 33.13	\$ -	\$ 33.13	\$ 1.25		\$ 6.34	\$ 3.17	
0000AVV	311521		LPN	11/10/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$ 19.22	\$ 2.30	\$ 21.52	\$ 5.00	\$ 107.60	\$ 16.48	\$ 8.23	
0000AV	311521	Patricia Cunningham	RN	11/11/20	COVID testing of staff	\$ 33.13	\$ -	\$ 33.13	\$ 6.00	\$ 198.78	\$ 30.45	\$ 15.21	
0000AV	311521	Patricia Cunningham	RN	11/12/20	COVID testing of staff	\$ 33.13	s -	\$ 33.13	\$ 1.25	\$ 41.41	\$ 6.34	\$ 3.17	\$ 50.92
0000AVV	311521		RN	11/12/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$ 33.13	\$ 3.97	\$ 37.10	\$ 8.75	\$ 324.63	\$ 49.73	\$ 24.83	
0000AV	311521		CNA	11/16/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$ 13.12	\$ 1.31	\$ 14.43	\$ 11.00	\$ 158.73	\$ 24.32	\$ 12.14	
0000AVV	311521		CNA	11/17/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$ 13.12	\$ 1.31	\$ 14.43	\$ 8.00	\$ 115.44	\$ 17.69	\$ 8.83	\$ 141.96
0000AVV	311521	Patricia Cunningham	RN	11/18/20	COVID testing of staff	\$ 33.13	\$ -	\$ 33.13	\$ 6.00	\$ 198.78	\$ 30.45	\$ 15.21	
0000AV	311521	Patricia Cunningham	RN	11/20/20	COVID testing of staff	\$ 33.13	Š -	\$ 33.13	\$ 2.00	\$ 66.26	\$ 10.15	\$ 5.07	\$ 81.48
0000AVV	311521	Wendy Watson	LPN	11/20/20	COVID test Doctor orders and lab orders for all Residents	\$ 21.09	\$ 2.11	\$ 23.20	\$ 5.00	\$ 116.00	\$ 17.77	\$ 8.87	\$ 142.65
0000AVV	311521	***************************************	CNA	11/21/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$ 13.09	\$ 3.93	\$ 17.02	\$ 8.00	\$ 136.16	\$ 20.86	\$ 10.42	
0000AVV	311521		RN	11/22/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$ 33.13	\$ 3.97	\$ 37.10	\$ 9.00	\$ 333.90	\$ 51.15	\$ 25.54	\$ 410.60
0000AVV	311521		CNA	11/26/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$ 13.09	\$ 1.31	\$ 14.40	\$ 8.25	\$ 118.80	\$ 18.20	\$ 9.09	
0000AVV	311521		CNA	11/28/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$ 13.09	\$ 3.93	\$ 17.02	\$ 12.25	\$ 208.50	\$ 31.94	\$ 15.95	
	311321		UNA	11/20/20	And the state of t	y 13.03	y 3.33	y 17.02	y 12.23	y 200.30	y 31.34	y 13.33	\$ 7.015.69

Arkansas State Veterans Home-Fayetteville COVID-19 Related Contract Labor Costs												
Fund	Cost Center	Agency	Name (Employee on COVID leave)	Title	Date	Explanation/Reason for working	Base Rate	Hours	Total Reimbursement Request			
NVA0000	311521	Bright Star		Screener	10/29/30	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$30.00	6.00	\$ 180.00			
0000AV	311521	Bright Star		CNA	09/01/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$30.00	8.00	\$ 240.00			
0000AVV	311521	Bright Star		CNA	09/04/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$30.00	8.00	\$ 240.00			
0000AVI	311521 311521	Bright Star Bright Star		CNA	09/09/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$30.00 \$30.00	8.00	\$ 240.00			
IVA0000	311521	Bright Star		CNA	09/12/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$30.00	8.00	\$ 240.00			
VA0000	311521	PRN		CNA	09/14/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$25.50	8.03	\$ 204.77			
0000AVI	311521	Bright Star		CNA	09/20/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$30.00	8.00	\$ 240.00			
0000AV	311521	Bright Star	Synteria Ward	Screener	09/28/20	Screening employees and visitors for COVID-19 at factility entrance	\$30.00	5.00	\$ 150.00			
0000AVI	311521	Bright Star	6	Screener	09/29/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$30.00	12.50	\$ 375.00			
IVA0000	311521 311521	Bright Star Bright Star	Synteria Ward Synteria Ward	Screener Screener	09/29/20 09/30/20	Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance	\$30.00 \$30.00	5.00	\$ 150.00			
0000AVA	311521	Bright Star	Synteria Ward	Screener	10/01/20	Screening employees and visitors for COVID-19 at facility entrance	\$30.00	6.00	\$ 180.00			
0000AVA	311521	Bright Star	Synteria Wara	Screener	10/02/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$30.00	7.75	\$ 232.50			
0000AVI	311521	Bright Star	Dani Biggs	Screener	10/03/20	Screening employees and visitors for COVID-19 at factility entrance	\$30.00	13.00	\$ 390.00			
0000AVI	311521	Bright Star		Screener	10/04/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$30.00	13.00	\$ 390.00			
0000AVI	311521	Bright Star		Screener	10/05/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$30.00	13.00	\$ 390.00			
0000AVI	311521	Bright Star	Synteria Ward	Screener	10/05/20	Screening employees and visitors for COVID-19 at factility entrance	\$30.00	5.00	\$ 150.00 \$ 375.00			
VA0000	311521 311521	Bright Star Bright Star	Synteria Ward	Screener Screener	10/06/20 10/06/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance	\$30.00 \$30.00	12.50 5.00	\$ 375.0			
VA0000	311521	Bright Star	Syntena watu	Screener	10/06/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$30.00	12.50	\$ 375.00			
IVA0000	311521	Bright Star	Synteria Ward	Screener	10/07/20	Screening employees and visitors for COVID-19 at factility entrance	\$30.00	5.00	\$ 150.00			
IVA0000	311521	Bright Star		Screener	10/08/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$30.00	6.25	\$ 187.50			
0000AVI	311521	Bright Star	Synteria Ward	Screener	10/08/20	Screening employees and visitors for COVID-19 at factility entrance	\$30.00	6.00	\$ 180.00			
IVA0000	311521	Bright Star		Screener	10/09/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$30.00	6.50	\$ 195.00			
0000AV/	311521 311521	Bright Star Bright Star	Rebecca Conklin	Screener Screener	10/09/20 10/10/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance	\$30.00 \$30.00	5.25 12.50	\$ 157.50 \$ 375.00			
IVA0000	311521	Bright Star	Rebecca Conklin	Screener	10/11/20	Screening employees and visitors for COVID-19 at facility entrance	\$30.00	12.50	\$ 375.00			
VA0000	311521	Bright Star	Nebecca Conkin	Screener	10/11/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$30.00	13.00	\$ 390.00			
VA0000	311521	Bright Star	Synteria Ward	Screener	10/12/20	Screening employees and visitors for COVID-19 at factility entrance	\$30.00	5.00	\$ 150.00			
IVA0000	311521	Bright Star		Screener	10/13/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$30.00	13.00	\$ 390.00			
1VA0000	311521	Bright Star	Synteria Ward	Screener	10/13/20	Screening employees and visitors for COVID-19 at factility entrance	\$30.00	5.00	\$ 150.00			
0000AVI	311521	PRN Bright Star		CNA Screener	10/14/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$30.00	13.00	\$ 390.00			
0000AVV	311521 311521	Bright Star Bright Star	Synteria Ward	Screener	10/14/20 10/14/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance	\$30.00 \$30.00	5.00	\$ 375.00 \$ 150.00			
IVA0000	311521	PRN	Synteria Waru	CNA	10/15/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$25.50	8.00	\$ 204.00			
0000AVI	311521	Bright Star		Screener	10/15/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$30.00	12.25	\$ 367.50			
0000AV	311521	Bright Star	Synteria Ward	Screener	10/15/20	Screening employees and visitors for COVID-19 at factility entrance	\$30.00	6.00	\$ 180.00			
0000AVI	311521	Bright Star	Lora York	Screener	10/16/20	Screening employees and visitors for COVID-19 at factility entrance	\$30.00	13.25	\$ 397.50			
IVA0000	311521	Bright Star	- 1 - 11	Screener	10/16/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$30.00	13.25	\$ 397.50			
IVA0000	311521 311521	Bright Star Bright Star	Rebecca Conklin	Screener Screener	10/18/20 10/19/20	Screening employees and visitors for COVID-19 at factility entrance	\$30.00 \$30.00	12.50	\$ 375.00			
0000AVA	311521	Bright Star	Synteria Ward	Screener	10/19/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance	\$30.00	5.00	\$ 150.00			
0000AVA	311521	PRN	Synteria Ward	CNA	10/20/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$25.50	8.08	\$ 206.04			
0000AVI	311521	Bright Star		Screener	10/20/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$30.00	13.25	\$ 397.50			
IVA0000	311521	Jet Staff		CNA	10/20/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$22.00	8.50	\$ 187.00			
1VA0000	311521	PRN		CNA	10/21/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$25.50	8.00	\$ 204.00			
0000AVV	311521	Staff		CNA	10/21/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$25.50	8.08	\$ 206.04			
0000AVI	311521 311521	Bright Star Jet Staff		Screener CNA	10/21/20 10/21/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$30.00 \$22.00	13.25 8.67	\$ 397.50			
IVA0000	311521	Bright Star	Synteria Ward	Screener	10/21/20	Screening employees and visitors for COVID-19 at factility entrance	\$30.00	5.00	\$ 150.00			
0000AVA	311521	PRN		CNA	10/22/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$25.50	8.00	\$ 204.00			
1VA0000	311521	Bright Star		Screener	10/22/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$30.00	12.50	\$ 375.00			
0000AVI	311521	Jet Staff		CNA	10/22/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$25.50	8.00	\$ 204.00			
0000AVA	311521	PRN		CNA	10/23/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$25.50	7.84	\$ 199.92			
IVA0000 IVA0000	311521	PRN Pright Stor		CNA Screener	10/23/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$38.25 \$30.00	0.33	\$ 12.62			
1VA0000	311521 311521	Bright Star Bright Star	Angela Bowman	Screener	10/23/20 10/24/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance	\$30.00	13.25	\$ 397.5			
IVA0000	311521	PRN	Cynthia Foley (Ethel Duckworth)	CNA	10/24/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$27.20	8.00	\$ 217.6			
IVA0000	311521	Elite	,	CNA	10/25/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$25.00	7.50	\$ 187.5			
1VA0000	311521	PRN		CNA	10/25/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$27.20	8.32	\$ 226.3			
IVA0000	311521	Bright Star	Rebecca Conklin	Screener	10/25/20	Screening employees and visitors for COVID-19 at factility entrance	\$30.00	1.50	\$ 45.00			
IVA0000	311521	PRN		CNA	10/26/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$25.50	8.00	\$ 204.00			
0000AVI	311521	Elite		CNA	10/26/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$25.50	7.50	\$ 191.2			
0000AVI	311521 311521	Bright Star Jet Staff		Screener CNA	10/26/20 10/26/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$30.00 \$22.00	5.00 8.00	\$ 150.00 \$ 176.00			
1VA0000	311521	Bright Star	Synteria Ward	Screener	10/26/20	Screening employees and visitors for COVID-19 at factility entrance	\$22.00 \$45.00	11.00	\$ 495.00			
VA0000	311521	Bright Star	Synteena Trans	Screener	10/27/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$30.00	5.00	\$ 150.00			
0000AVV	311521	Elite		CNA	10/27/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$25.50	7.75	\$ 197.63			
0000AVV	311521	Bright Star	Synteria Ward	Screener	10/27/20	Screening employees and visitors for COVID-19 at factility entrance	\$30.00	13.00	\$ 390.00			
0000AVI	311521	PRN		CNA	10/28/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$25.50	8.02	\$ 204.5			

NVA0000 31152	521 Bright Star 521 PRN	Synteria Ward Synteria Ward Angela Bowman Rebecca Conklin Rebecca Conklin Rebecca Conklin Rebecca Conklin Rebecca Conklin Angela Bowman Dani Biggs	Screener Screener Screener Screener Screener CNA Screener RN Screener CNA RN Screener Screener Screener Screener Screener LNA Screener Screener Screener Screener LNA Screener Screener LNA LPN LPN LPN LPN	10/28/20 10/28/20 10/29/20 10/31/20 10/31/20 11/01/20 11/02/20 11/03/20 11/03/20 11/03/20 11/03/20 11/04/20 11/05/20 11/05/20 11/06/20 11/06/20 11/06/20 11/07/20 11/07/20 11/08/20 11/08/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 ta factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance	\$30.00 \$30.00 \$30.00 \$30.00 \$30.00 \$30.00 \$65.00 \$30.00 \$65.00 \$30.00 \$25.50 \$30.00 \$30.00 \$30.00 \$27.50 \$30.00 \$3	5.00 13.25 12.75 12.25 8.00 13.00 10.00 8.50 9.00 9.00 8.00 9.00 8.25 8.00 9.00 13.00	\$ 155 389 5 388 5 365 5 244 5 399 5 5 255 5 25 5 277 5 211 5 5 227 5 227 5 239 5 24 5 399 5 5 25 5 277
NVA0000 31152 NVA0000	521 Bright Star 521 PRN 521 PRN 521 PRN 521 PRN 521 PRN 521 Bright Star 521 Bright Star	Synteria Ward Angela Bowman Rebecca Conklin Angela Bowman	Screener Screener CNA Screener RN Screener RN Screener CNA Screener CNA Screener CNA Screener CNA RN Screener Screener Screener Screener RR Screener Screener Screener LPN Screener	10/29/20 10/31/20 10/31/20 11/01/20 11/02/20 11/02/20 11/03/20 11/03/20 11/03/20 11/03/20 11/04/20 11/05/20 11/05/20 11/05/20 11/06/20 11/06/20 11/07/20 11/07/20 11/08/20 11/08/20	Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance	\$30.00 \$30.00 \$30.00 \$30.00 \$65.00 \$30.00 \$65.00 \$30.00 \$25.50 \$30.00 \$25.50 \$30.00 \$30.00 \$45.00 \$30.00 \$3	12.75 12.25 8.00 13.00 10.00 8.50 9.00 9.00 8.00 9.00 8.25 8.00 9.00 4.50 5.50 13.00 7.75	\$ 38 \$ 36 \$ 24 \$ 39 \$ 65 \$ 25 \$ 25 \$ 27 \$ 20 \$ 20 \$ 21 \$ 52 \$ 22 \$ 22 \$ 22 \$ 22 \$ 22 \$ 22 \$ 22
NVA0000 31152 NVA0000	521 Bright Star 521 PRN 521 Bright Star 521 PRN 521 Bright Star 521 PRN 521 PRN	Angela Bowman Rebecca Conklin Angela Bowman	Screener CNA Screener RN Screener RN Screener CNA Screener CNA RN Screener CNA RN Screener CNA RN Screener Screener Screener CNA RN Screener Screener RN Screener CNA	10/31/20 10/31/20 11/01/20 11/02/20 11/02/20 11/02/20 11/03/20 11/03/20 11/04/20 11/05/20 11/05/20 11/05/20 11/06/20 11/06/20 11/07/20 11/07/20 11/08/20 11/08/20	Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance	\$30.00 \$30.00 \$30.00 \$65.00 \$30.00 \$55.00 \$30.00 \$25.50 \$65.00 \$30.00 \$25.50 \$65.00 \$30.00 \$25.50 \$65.00 \$30.00 \$30.00 \$30.00 \$30.00 \$30.00 \$30.00 \$30.00	12.25 8.00 13.00 10.00 8.50 9.00 8.00 9.00 8.25 8.00 9.00 4.50 5.50 13.00 7.75	\$ 36 \$ 24 \$ 39 \$ 65 \$ 25 \$ 25 \$ 27 \$ 20 \$ 27 \$ 21 \$ 52 \$ 27 \$ 32 \$ 27 \$ 21 \$ 52 \$ 52 \$ 27 \$ 52 \$ 27 \$ 52 \$ 27 \$ 52 \$ 27 \$ 52 \$ 27 \$ 54 \$ 27 \$ 55 \$ 27 \$ 27 \$ 27 \$ 27 \$ 27 \$ 27 \$ 27 \$ 27
NVA0000 31152 NVA00000 31152 N	521 Bright Star 521 PRN 521 Bright Star 521 Bright Star 521 Bright Star 521 Bright Star<	Rebecca Conklin Agela Bowman	CNA Screener RN Screener RN Screener CNA Screener CNA RN Screener CNA RN Screener Screener Screener Screener RN Screener Screener Screener	10/31/20 11/01/20 11/02/20 11/02/20 11/03/20 11/03/20 11/03/20 11/03/20 11/04/20 11/05/20 11/05/20 11/05/20 11/06/20 11/06/20 11/06/20 11/07/20 11/07/20 11/08/20 11/08/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance	\$30.00 \$30.00 \$65.00 \$65.00 \$30.00 \$65.00 \$30.00 \$25.50 \$30.00 \$25.50 \$30.00 \$30.00 \$30.00 \$30.00 \$30.00 \$45.00	8.00 13.00 10.00 8.50 9.00 9.00 8.00 9.00 8.25 8.00 9.00 4.50 5.50 13.00 7.75	\$ 24 \$ 39 \$ 65 \$ 25 \$ 28 \$ 27 \$ 20 \$ 27 \$ 21 \$ 52 \$ 52 \$ 52 \$ 52 \$ 52 \$ 52 \$ 52 \$ 52
NVA0000 31152	S21	Rebecca Conklin Rebecca Conklin Rebecca Conklin Rebecca Conklin Rebecca Conklin Rebecca Conklin Angela Bowman	Screener RN Screener RN Screener CNA Screener CNA RN Screener Screener Screener Screener RR Screener Screener Screener	11/01/20 11/02/20 11/02/20 11/02/20 11/03/20 11/03/20 11/03/20 11/04/20 11/04/20 11/05/20 11/05/20 11/05/20 11/06/20 11/06/20 11/06/20 11/06/20 11/07/20 11/08/20 11/08/20	Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$30.00 \$65.00 \$30.00 \$65.00 \$30.00 \$25.50 \$30.00 \$25.50 \$65.00 \$30.00 \$30.00 \$30.00 \$30.00 \$30.00 \$30.00 \$30.00 \$30.00 \$30.00 \$30.00	13.00 10.00 8.50 9.00 9.00 8.00 9.00 8.25 8.00 9.00 4.50 5.50 13.00 7.75	\$ 39 \$ 65 \$ 25 \$ 58 \$ 27 \$ 20 \$ 27 \$ 21 \$ 52 \$ 27 \$ 21 \$ 52 \$ 52 \$ 39 \$ 24
NVA0000 31152 NVA0000	521 Bright Star 521 PRN 521 Bright Star 521 Bright Star 521 PRN 521 PRN 521 PRN 521 PRN 521 PRN 521 PRN	Rebecca Conklin Rebecca Conklin Rebecca Conklin Rebecca Conklin Rebecca Conklin Rebecca Conklin Angela Bowman	RN Screener RN Screener CNA RN Screener CNA RN Screener CNA RN Screener Screener Screener Screener RN Screener LNA Screener RN LPN	11/02/20 11/02/20 11/03/20 11/03/20 11/03/20 11/04/20 11/05/20 11/05/20 11/05/20 11/06/20 11/06/20 11/07/20 11/07/20 11/08/20 11/08/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$65.00 \$30.00 \$65.00 \$30.00 \$25.50 \$30.00 \$25.50 \$30.00 \$30.00 \$45.00 \$30.00 \$27.20	10.00 8.50 9.00 9.00 8.00 9.00 8.25 8.00 9.00 4.50 5.50 13.00 7.75	\$ 65; \$ 25; \$ 58; \$ 27; \$ 20; \$ 27; \$ 21; \$ 52; \$ 27; \$ 33; \$ 24; \$ 39; \$ 21;
NVA0000 31152 NVA00000 31152	521 Bright Star 521 Bright Star 521 Bright Star 521 Bright Star 521 PRN 521 Bright Star 521 PRN 521 Bright Star 521 Bright Star 521 Bright Star 521 PRN 521 Bright Star 521 Bright Star 521 Bright Star 521 Bright Star	Rebecca Conklin Rebecca Conklin Rebecca Conklin Rebecca Conklin Rebecca Conklin Angela Bowman	Screener RN Screener CNA Screener CNA RN Screener Screener Screener Screener CNA RN Screener Screener RN LPN	11/02/20 11/03/20 11/03/20 11/04/20 11/04/20 11/05/20 11/05/20 11/05/20 11/05/20 11/06/20 11/06/20 11/07/20 11/07/20 11/07/20 11/08/20 11/08/20	Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$30.00 \$65.00 \$30.00 \$25.50 \$30.00 \$25.50 \$65.00 \$30.00 \$30.00 \$45.00 \$30.00 \$27.20	8.50 9.00 9.00 8.00 9.00 8.25 8.00 9.00 4.50 5.50 13.00 7.75	\$ 25 \$ 58 \$ 27 \$ 20 \$ 27 \$ 21 \$ 52 \$ 52 \$ 27 \$ 39 \$ 24 \$ 39 \$ 24
NVA0000 31152 NVA00000 31152 N	521 Bright Star 521 Bright Star 521 PRN 521 PRN 521 Bright Star 521 PRN 521 PRN 521 PRN 521 PRN 521 PRN 521 PRN 521 Bright Star	Rebecca Conklin Rebecca Conklin Rebecca Conklin Rebecca Conklin Rebecca Conklin Angela Bowman	RN Screener CNA Screener CNA RN Screener Screener Screener Screener RCNA Screener RCNA Screener	11/03/20 11/03/20 11/04/20 11/04/20 11/04/20 11/05/20 11/05/20 11/05/20 11/06/20 11/07/20 11/07/20 11/07/20 11/08/20 11/08/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$65.00 \$30.00 \$25.50 \$30.00 \$25.50 \$65.00 \$30.00 \$30.00 \$45.00 \$30.00 \$27.20	9.00 9.00 8.00 9.00 8.25 8.00 9.00 4.50 5.50 13.00 7.75	\$ 58 \$ 27 \$ 20 \$ 27 \$ 21 \$ 52 \$ 52 \$ 27 \$ 39 \$ 24 \$ 39 \$ 21
NVA0000 31152 NVA00000 31152	Section	Rebecca Conklin Rebecca Conklin Rebecca Conklin Rebecca Conklin Angela Bowman	Screener CNA Screener CNA RN Screener Screener Screener Screener CNA Screener CNA Screener CNA Screener	11/03/20 11/04/20 11/04/20 11/05/20 11/05/20 11/05/20 11/05/20 11/06/20 11/06/20 11/07/20 11/07/20 11/08/20 11/08/20	Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 tactility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$30.00 \$25.50 \$30.00 \$25.50 \$65.00 \$30.00 \$30.00 \$45.00 \$30.00 \$27.20	9.00 8.00 9.00 8.25 8.00 9.00 4.50 5.50 13.00 7.75	\$ 27 \$ 20 \$ 27 \$ 21 \$ 52 \$ 27 \$ 52 \$ 27 \$ 21 \$ 52 \$ 27 \$ 27 \$ 27 \$ 27 \$ 27 \$ 27 \$ 27 \$ 2
NVA0000 31152	521 PRN 521 Bright Star 521 PRN 521 Bright Star 521 PRN 521 Bright Star 521 Bright Star 521 PRN 521 PRN 521 PRN 521 PRN 521 PRN 521 Bright Star	Rebecca Conklin Rebecca Conklin Rebecca Conklin Rebecca Conklin Angela Bowman	CNA Screener CNA RN Screener Screener Screener CNA Screener RN Screener LPN LPN	11/04/20 11/04/20 11/05/20 11/05/20 11/05/20 11/05/20 11/06/20 11/06/20 11/07/20 11/07/20 11/08/20 11/08/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$25.50 \$30.00 \$25.50 \$65.00 \$30.00 \$30.00 \$45.00 \$30.00 \$27.20	8.00 9.00 8.25 8.00 9.00 4.50 5.50 13.00 7.75	\$ 20 \$ 27 \$ 21 \$ 52 \$ 52 \$ 27 \$ 13 \$ 24 \$ 39 \$ 21
NVA0000 31152 NVA00000 31	521 PRN 521 Bright Star 521 PRN 521 Bright Star 521 PRN 521 PRN 521 PRN 521 PRN 521 PRN 521 PRN 521 Bright Star 521 Bright Star 521 PRN 521 Bright Star 521 PRN 521 Bright Star 521 Bright Star 521 Bright Star	Rebecca Conklin Rebecca Conklin Rebecca Conklin Rebecca Conklin Angela Bowman	CNA Screener CNA RN Screener Screener Screener CNA Screener RN Screener LPN LPN	11/04/20 11/05/20 11/05/20 11/05/20 11/05/20 11/06/20 11/06/20 11/07/20 11/07/20 11/08/20 11/08/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$25.50 \$30.00 \$25.50 \$65.00 \$30.00 \$30.00 \$45.00 \$30.00 \$27.20	9.00 8.25 8.00 9.00 4.50 5.50 13.00 7.75	\$ 27' \$ 21' \$ 52' \$ 27' \$ 13 \$ 24 \$ 39' \$ 21'
NVA0000 31152 NVA00000 31152 NVA0000	521 PRN 521 Bright Star 521 PRN 521 PRN 521 PRN 521 PRN 521 PRN 521 PRN 521 Bright Star 521 Bright Star 521 Pright Star 521 Bright Star 521 Bright Star	Rebecca Conklin Rebecca Conklin Rebecca Conklin Angela Bowman	Screener CNA RN Screener Screener Screener CNA Screener RN LPN	11/05/20 11/05/20 11/05/20 11/05/20 11/06/20 11/06/20 11/07/20 11/07/20 11/08/20 11/08/20	Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$30.00 \$25.50 \$65.00 \$30.00 \$30.00 \$45.00 \$30.00 \$27.20	8.25 8.00 9.00 4.50 5.50 13.00 7.75	\$ 21' \$ 52' \$ 27' \$ 13 \$ 24 \$ 39 \$ 21
NVA0000 31152 NVA00000 31152 NVA0000	521 PRN 521 Bright Star 521 PRN 521 PRN 521 PRN 521 PRN 521 PRN 521 PRN 521 Bright Star 521 Bright Star 521 Pright Star 521 Bright Star 521 Bright Star	Rebecca Conklin Rebecca Conklin Rebecca Conklin Angela Bowman	RN Screener Screener Screener Screener CNA Screener RN LPN	11/05/20 11/05/20 11/05/20 11/05/20 11/06/20 11/06/20 11/07/20 11/07/20 11/08/20 11/08/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$25.50 \$65.00 \$30.00 \$30.00 \$45.00 \$30.00 \$27.20	8.25 8.00 9.00 4.50 5.50 13.00 7.75	\$ 21' \$ 52' \$ 27' \$ 13 \$ 24 \$ 39 \$ 21
NVA0000 31152	521 Bright Star 521 PRN 521 PRN 521 PRN 521 PRN 521 PRN 521 Bright Star 521 Bright Star 521 PRN 521 Bright Star 521 Bright Star 521 Bright Star 521 Bright Star	Rebecca Conklin Rebecca Conklin Angela Bowman	RN Screener Screener Screener Screener CNA Screener RN LPN	11/05/20 11/05/20 11/06/20 11/06/20 11/06/20 11/07/20 11/07/20 11/08/20 11/08/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$65.00 \$30.00 \$30.00 \$45.00 \$30.00 \$27.20	8.00 9.00 4.50 5.50 13.00 7.75	\$ 520 \$ 270 \$ 13 \$ 24 \$ 390 \$ 210
NVA0000 31152 NVA00000 NV	521 Bright Star 521 PRN 521 PRN 521 PRN 521 PRN 521 PRN 521 PRN 521 Bright Star 521 Bright Star 521 Pright Star 521 Bright Star 521 Bright Star	Rebecca Conklin Rebecca Conklin Angela Bowman	Screener Screener Screener CNA Screener RN LPN	11/05/20 11/06/20 11/06/20 11/07/20 11/07/20 11/08/20 11/08/20	Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$30.00 \$30.00 \$45.00 \$30.00 \$27.20	9.00 4.50 5.50 13.00 7.75	\$ 27 \$ 13 \$ 24 \$ 39 \$ 21
NVA0000 31152 NVA00000 31152 NVA000	521 Bright Star 521 Bright Star 521 Bright Star 521 Bright Star 521 Bright Star 521 Bright Star 521 PRN 521 PRN	Rebecca Conklin Rebecca Conklin Angela Bowman	Screener Screener Screener CNA Screener RN LPN	11/06/20 11/06/20 11/07/20 11/07/20 11/08/20 11/08/20	Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$30.00 \$45.00 \$30.00 \$27.20	4.50 5.50 13.00 7.75	\$ 13 \$ 24 \$ 39 \$ 21
NVA0000 31152 NVA0000 NVA000	521 Bright Star 521 Bright Star 521 PRN 521 Bright Star 521 Bright Star 521 PRN 521 PRN 521 PRN 521 PRN 521 PRN 521 Bright Star 521 Bright Star 521 PRN 521 Bright Star 521 Bright Star 521 Bright Star 521 Bright Star	Rebecca Conklin Angela Bowman	Screener Screener CNA Screener RN LPN	11/06/20 11/07/20 11/07/20 11/08/20 11/08/20	Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$45.00 \$30.00 \$27.20	5.50 13.00 7.75	\$ 24 \$ 39 \$ 21
NVA0000 31152 NVA00000 NVA0000	521 Bright Star 521 PRN 521 Bright Star 521 Bright Star 521 PRN 521 PRN 521 PRN 521 PRN 521 PRN 521 Bright Star 521 Bright Star 521 PrN 521 Bright Star 521 Bright Star 521 Bright Star	Angela Bowman	Screener CNA Screener RN LPN	11/07/20 11/07/20 11/08/20 11/08/20	Screening employees and visitors for COVID-19 at factility entrance Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$30.00 \$27.20	13.00 7.75	\$ 39
NVA0000 31152 NVA00000 N	521 PRN 521 Bright Star 521 Bright Star 521 PRN 521 Bright Star 521 Bright Star 521 Bright Star 521 PRN		CNA Screener RN LPN	11/07/20 11/08/20 11/08/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$27.20	7.75	\$ 21
NVA0000 31152 NVA0000 NVA0	521 Bright Star 521 Bright Star 521 PRN 521 PRN 521 PRN 521 PRN 521 PRN 521 Bright Star 521 Bright Star 521 PRN 521 PRN	Dani Biggs	Screener RN LPN	11/08/20 11/08/20	Screening employees and visitors for COVID-19 at factility entrance			
NVA0000 31152 NVA0000 31152	521 Bright Star 521 PRN 521 PRN 521 PRN 521 PRN 521 PRN 521 PRN 521 Bright Star 521 Bright Star 521 Bright Star 521 Bright Star	Denir biggs	RN LPN	11/08/20			12.50	\$ 37.
NVA0000 31152 NVA0001 31152 NVA0000 31152 NVA0000 31152 NVA0000 31152	521 PRN 521 PRN 521 PRN 521 PRN 521 PRN 521 Bright Star 521 Bright Star 521 PRN 521 PRN 521 PRN 521 Bright Star		LPN		Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$65.00	1.50	\$ 9
NVA0000 31152 NVA0000 NVA00000 NVA0000 NVA00000 NVA00000 NVA0000	521 PRN 521 PRN 521 PRN 521 PRN 521 Bright Star 521 Bright Star 521 PRN 521 Bright Star			11/09/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$47.60	8.50	\$ 9
NVA0000 31152 NVA00000 NVA000000 NVA00000 NVA00000 NVA000000 NVA000000 NVA0000	.521 PRN .521 PRN .521 Bright Star .521 Bright Star .521 Bright Star .521 PRN .521 Bright Star		I PIN	11/09/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$47.60	8.50 4.50	\$ 21
NVA0000 31152 NVA0001 31152 NVA0000 31152 NVA0000 31152 NVA0000 31152	.521 PRN .521 Bright Star .521 Bright Star .521 Bright Star .521 PRN .521 Bright Star		CNA	11/09/20			4.50 8.50	\$ 21
NVA0000 31152 NVA0000 31152	521 Bright Star .521 Bright Star .521 PRN .521 Bright Star				Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$25.50		
NVA0000 31152 NVA00000 NVA000000 NVA00000 NVA00000 NVA000000 NVA000000 NVA000000 NVA000000 NVA000000 NVA00	521 Bright Star .521 PRN .521 Bright Star		CNA	11/09/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$25.50	8.50	\$ 21
NVA0000 31152 NVA0001 31152 NVA0003 31152 NVA0000 31152 NVA0000 31152	521 PRN 521 Bright Star	B 1 - 111	RN	11/09/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$65.00	8.00	\$ 52
NVA0000 31152	.521 Bright Star	Rebecca Conklin	Screener	11/09/20	Screening employees and visitors for COVID-19 at factility entrance	\$30.00	9.00	\$ 27
NVA0000 31152			CNA	11/10/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$25.50	8.50	\$ 21
NVA0000 31152		Rebecca Conklin	Screener	11/10/20	Screening employees and visitors for COVID-19 at factility entrance	\$30.00	9.00	\$ 27
NVA0000 31152 NVA0000 31152 NVA0000 31152 NVA0000 31152 NVA0000 31152 NVA0000 31152 NVA0000 31152 NVA0000 31152 NVA0000 31152			LPN	11/11/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$47.60	8.00	\$ 38
NVA0000 31152 NVA0000 31152 NVA0000 31152 NVA0000 31152 NVA0000 31152 NVA0000 31152 NVA0000 31152 NVA0000 31152			CNA	11/11/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$25.50	8.75	\$ 22
NVA0000 31152 NVA0000 31152 NVA0000 31152 NVA0000 31152 NVA0000 31152 NVA0000 31152 NVA0000 31152			RN	11/11/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$65.00	8.50	\$ 55
NVA0000 31152 NVA0000 31152 NVA0000 31152 NVA0000 31152 NVA0000 31152 NVA0000 31152		Rebecca Conklin	Screener	11/11/20	Screening employees and visitors for COVID-19 at factility entrance	\$30.00	9.00	\$ 27
NVA0000 31152 NVA0000 31152 NVA0000 31152 NVA0000 31152 NVA0000 31152			CNA	11/12/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$25.50	8.50	\$ 21
NVA0000 31152 NVA0000 31152 NVA0000 31152 NVA0000 31152		Rebecca Conklin	Screener	11/12/20	Screening employees and visitors for COVID-19 at factility entrance	\$30.00	9.00	\$ 27
NVA0000 31152 NVA0000 31152 NVA0000 31152			LPN	11/13/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$47.60	9.00	\$ 42
NVA0000 31152 NVA0000 31152			CNA	11/13/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$27.20	4.00	\$ 10
NVA0000 31152			CNA	11/13/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$27.20	8.00	\$ 21
	.521 PRN		CNA	11/13/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$25.50	8.00	\$ 20
NVA0000 31152	.521 Bright Star	Rebecca Conklin	Screener	11/13/20	Screening employees and visitors for COVID-19 at factility entrance	\$30.00	9.00	\$ 27
			CNA	11/14/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$27.20	10.50	\$ 28
NVA0000 31152		Shampres Curtis	Screener	11/14/20	Screening employees and visitors for COVID-19 at factility entrance	\$30.00	8.25	\$ 24
NVA0000 31152	.521 Bright Star	Shampres Curtis	Screener	11/15/20	Screening employees and visitors for COVID-19 at factility entrance	\$30.00	13.00	\$ 39
NVA0000 31152	.521 Bright Star	Rebecca Conklin	Screener	11/16/20	Screening employees and visitors for COVID-19 at factility entrance	\$30.00	9.00	\$ 27
NVA0000 31152	.521 Jet Staff		CNA	11/16/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$48.00	8.50	\$ 40
NVA0000 31152	.521 Bright Star	Rebecca Conklin	Screener	11/17/20	Screening employees and visitors for COVID-19 at factility entrance	\$30.00	9.00	\$ 27
NVA0000 31152	.521 Jet Staff		CNA	11/17/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$48.00	8.50	\$ 40
NVA0000 31152	.521 Jet Staff		CNA	11/18/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$24.00	8.50	\$ 20-
NVA0000 31152	.521 Jet Staff		CNA	11/18/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$26.00	8.50	\$ 22
NVA0000 31152			CNA	11/18/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$26.00	8.00	\$ 20
NVA0000 31152		Rebecca Conklin	Screener	11/18/20	Screening employees and visitors for COVID-19 at factility entrance	\$30.00	9.00	\$ 27
NVA0000 31152			CNA	11/19/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$28.29	8.50	\$ 24
NVA0000 31152			RN	11/19/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$65.00	8.00	\$ 52
NVA0000 31152		Rebecca Conklin	Screener	11/19/20	Screening employees and visitors for COVID-19 at factility entrance	\$30.00	9.00	\$ 27
NVA0000 31152			CNA	11/19/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$48.00	8.25	\$ 39
NVA0000 31152		Rebecca Conklin	Screener	11/20/20	Screening employees and visitors for COVID-19 at factility entrance	\$30.00	4.00	\$ 12
NVA0000 31152		Rebecca Conklin	Screener	11/20/20	Screening employees and visitors for COVID-19 at factility entrance	\$45.00	5.00	\$ 22
NVA0000 31152		Shampres Curtis	Screener	11/21/20	Screening employees and visitors for COVID-19 at factility entrance	\$30.00	13.00	\$ 39
NVA0000 31152		Shampres Curtis	Screener	11/22/20	Screening employees and visitors for COVID-19 at factility entrance	\$30.00	13.00	\$ 39
NVA0000 31152 NVA0000 31152		Rebecca Conklin	Screener	11/23/20	Screening employees and visitors for COVID-19 at factility entrance	\$30.00	9.25	\$ 27
NVA0000 31152 NVA0000 31152		Nebecca Conkin	RN	11/24/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$65.00	8.00	\$ 52
NVA0000 31152 NVA0000 31152		Rebecca Conklin	Screener	11/24/20	Screening employees and visitors for COVID-19 at factility entrance	\$30.00	9.50	\$ 28
NVA0000 31152 NVA0000 31152		Nebecca Conkilli	RN	11/25/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$65.00	0.75	\$ 4
NVA0000 31152 NVA0000 31152			RN	11/25/20	Additional labor cost to replace employee named in parentnesss on COVID-19 leave	\$97.50	7.75	\$ 75
NVA0000 31152 NVA0000 31152		Rebecca Conklin	Screener	11/25/20	Screening employees and visitors for COVID-19 at factility entrance	\$30.00	9.25	\$ 27
		Nebecca Conkilli						
NVA0000 31152			RN RN	11/26/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$97.50	1.00	\$ 9
NVA0000 31152 NVA0000 31152		Dobose CLi-		11/26/20 11/26/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$65.00 \$30.00	7.00 12.00	\$ 45
		Rebecca Conklin	Screener	11/26/20	Screening employees and visitors for COVID-19 at factility entrance			\$ 36
NVA0000 31152		Rebecca Conklin	Screener		Screening employees and visitors for COVID-19 at factility entrance	\$45.00	1.00	
NVA0000 31152	.521 Jet Staff		CNA	11/26/20	Additional labor cost to replace employee named in parentheses on COVID-19 leave	\$72.00	13.00	\$ 93
NVA0000 31152	F04 0	Rebecca Conklin	Screener	11/27/20	Screening employees and visitors for COVID-19 at factility entrance	\$45.00	10.00	\$ 45
NVA0000 31152		Shampres Curtis	Screener	11/28/20	Screening employees and visitors for COVID-19 at factility entrance	\$30.00	13.50	\$ 40
NVA0000 31152	521 Bright Star	Shampres Curtis Rebecca Conklin	Screener	11/29/20	Screening employees and visitors for COVID-19 at factility entrance Screening employees and visitors for COVID-19 at factility entrance	\$30.00	10.00	\$ 30
NVA0000 31152	521 Bright Star 521 Bright Star		Screener	11/30/20	Screening employees and visitors for COVID 10 at factility entrance	\$30.00	9.50	\$ 28. \$ 41,23



ARKANSAS DEPARTMENT OF FINANCE AND ADMINISTRATION

Reimbursement Request for Non-PreApproved COVID-19 CARES Act Expenses

Form No.

CARES-St Agency-001R

MILL

12/7/2 Date

0385 Bus Area

Arkansas Department of Veterans Affairs

Cabinet Name / Division Name

Trans #	Date of Purchase	Invoice #	Vendor Name	Number of Items/Cases	Product Description	GL Code	Cost Center	WBS Element / Internal Order	Amount	Warrant #
1	8/19/20	113-5441968-4885034	AMAZON	1	Protection Plan for web cameras for DVSO working from home for virtual hearings	5030008000	311212		\$ 7.98	2120157613
2	8/19/20	113-7845736-9032264	AMAZON	1	Web cameras for DVSO working from home for virtual hearings	5090026300	311212		\$ 91.92	2120157613
3	8/24/20	9821165892	STAPLES	1	Airtime card for DVSO working from home due to COVID19	5020003000	311212		\$ 35.00	2120157613
4	9/2/20	TV-CHANDLEG-0902	GINA R. CHANDLER	1	Travel for COVID19 testing unit in El Dorado, AR	5050001000	311212		\$ 94.08	2120136747
5	9/2/20	TV-TODDN-0902	NATHANIEL TODD	1	Travel for COVID19 testing unit in Lee County, AR/Independence County, AR/ Miller County, AR/ Union County El Dorado, AR	5050001000	310238		\$ 396.40	2120136358
6	9/3/20	L15127346	THE HERTZ CORPORATION	1	Travel for COVID19 testing unit in Texarkana, AR and transported specimens to Little Rock VA lab	5040009000	311212		\$ 86.76	2110112113
7	9/15/20	TV-CHANDLEG-0915	GINA R. CHANDLER	1	Travel for COVID19 testing unit at UAMS in Mountain Home, AR	5050001000	311212		\$ 126.84	2120157835
8	9/17/20	TV-CHANDLEG-0917	GINA R. CHANDLER	1	Travel for COVID19 testing unit at UAMS in Camden, AR	5050001000	311212		\$ 80.64	2120157836
9	11/19/20	81001422030	MERCY HOSPITAL ROGERS	305	COVID19 testing lab fee charges	5080015000	311521		\$ 30,500.00	2110228951
10	12/3/20	81001388937	MERCY HOSPITAL ROGERS	565	COVID19 testing lab fee charges	5080015000	311521		\$ 54,305.00	2110232254
								TOTAL	\$ 85,724.62	

Certification of Other Funding:

By signing this form, the state agency certifies that no other funding sources are available for the reimbursement of these expenses.

Claustine of Compton

FOR SECRETARY NATE TOOD

Date

Signature of Division Director

Date

Attachment B